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Mulniply Dy 10U

5a. Complete the calculation
represented by the image below.

ve

Sb. Complete the calculation
represented by the image below.

v

éa. True or false?

10 lots of 23 = 230

i

6b. True or false?

13 lots of 10 =103

g

7a. Balloons are sold in packs of 10.
Asif buys 14 packs for his party bags.

How many does he have altogether?

w

7b. Bun cases are sold in packs of 25.
Alice buys 10 packs for her cupcakes.

How many does she have altogether?
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8a. Which representation is the odd one
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8b. Which representation is the odd one
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